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(6) d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $

d¡km{ZH$ g§ñWm d g§emoYH

1) ‘mZdmVrb g§nyU© ‘mBQ>moH$m°pÝS´̀ b OrZmo‘Mr bm§~r ______bp Amho.
1) 16569 2) 16659 3) 15659 4) 15569

1) The length of the complete mitochondrial genome in humans is ______bp.

1) 16569 2) 16659 3) 15659 4) 15569

2) ‘yi qH$dm Ý ỳpŠcAg {~`mÊ`mgmR>r BVa gd© JwUdÎmoÀ`m ‘mnX§S>m§À`m Cƒ ‘mZH$m§gh AZwdm§{eH$ Am{U ^m¡{VH$ ewÕVm
Amho
1) 95% ewÕVm 2) 100% ewÕVm 3) 98% ewÕVm 4) 97% ewÕVm

2) The genetic and physical purity along with the high standard of all other quality parameters for

basic or nucleus seed has

1) 95% purity 2) 100% purity 3) 98% purity 4) 97% purity

3) Y ’$mBba ßbg nrgrAma A°åßbr{’$Ho$eZ {H$Q>‘Ü ò {H$Vr bmoH$s CnbãY AmhoV?
1) 23 2) 27 3) 24 4) 21

3) How many loci are available in Y filer Plus PCR amplification kit?

1) 23 2) 27 3) 24 4) 21

4) nyaH$ OZwH$ {H«$`m åhQ>ë`m OmUmè`m OZwH$m§À`m nañnag§dmXmMm àH$ma `mMo JwUmoÎma XoVmo -
1) 9:3:3:1 2) 15:1 3) 9:7 4) 9:3:4

4) The type of gene interaction called supplementary gene action gives the ratio of -

1) 9:3:3:1 2) 15:1 3) 9:7 4) 9:3:4

5) ‘moR>çm Am{U `mÑpÀN>H$nUo drU (panmictic) bmoH$g§» òVrb {d{dY àH$maÀ`m OrÝg Am{U E{bëgMr gmnoj
dma§dmaVm CËn[adV©Z, {ZdS> Am{U OZwH$ àdmhmÀ`m AZwnpñWVrV {nT>çmZ{nT>çm pñWa amhVo. ho {dYmZ bmoH${à` åhUyZ
AmoiIbo OmVo:
1) ‘|S>obMm n¥W¸$aUmMm {Z`‘ 2) hmS>u-doZ~J© g‘Vmob
3) S>m{d©ZMm Z¡g{J©H$ {ZdS>rMm {gÕm§V 4) bm‘mH©$Mm {gÕm§V

5) “The relative frequencies of various kinds of genes and alleles in a large and randomly mating

(panmictic) population tend to remain constant from generation to generation in the absence of

mutation, selection and gene flow”. This statement is popularly known as:

1) Mendel’s law of segregation 2) Hardy-Weinberg equilibrium

3) Darwin’s theory of natural selection 4) Lamarck’s theory

6) Imbrb dJuH$aUemókm§Zm Ë`m§À`m dZñnVr dJuH$aU àUmbrdarb nwñVH$m§er Owidm.
a) B§½ba Am{U à±Q>b i) âbm°d[a¨J ßbm§Q²gMr CËH«$m§Vr Am{U dJuH$aU
b) Om°Z h{MÝgZ ii) S>m` qH$dm Z°Ma{bMoZ âb°ÝPoZ’°{‘brZ
c) ~|W‘ Am{U hÿH$a iii) âbm°d[a¨J dZñnVtMo Hw$Qw>§~
d) AmW©a H«$m°Z{¹$ñQ> iv) OoZoam ßbm§Q>ma‘
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iii) (ii) (i) (iv)

3) (ii) (iii) (iv) (i)

4) (iii) (iv) (i) (ii)

6) Match the following Taxonomists with their books on Plant Classification System :

a) Engler and Prantl i) The Evolution and Classification of Flowering Plants

b) John Hutchinson ii) Die or Naturlichen Pflanzenfamilien

c) Bentham and Hooker iii) Families of the Flowering Plants

d) Arthur Cronquist iv) Genera Plantarum

Answer options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iii) (ii) (i) (iv)

3) (ii) (iii) (iv) (i)

4) (iii) (iv) (i) (ii)

7) Owb¡ 2023 n¶ªVÀ¶m ‘m{hVrZwgma COVID-19 (¶m {dfmUy)Mm Imbrbn¡H$s H$moUVm àH$ma (ìho[a¶§Q>) AJXr AcrH$S>o
gmnS>bm Amho?
1) H$ßnm 2) S>oëQ>m 3) E[ag 4) Amo{‘H«$m°Z

7) Which of following is the latest COVID-19 variant as of July 2023?

1) Kappa 2) Delta 3) Eris 4) Omicron

8) OyZ 2023 ‘Ü¶o ‘hmamï´>mV àW‘M {Xgbobo am‘~wQ>ZMo PmS> ho ‘ybV… Imbrbn¡H$s H$moUË¶m {R>H$mUMo Amho?
1) ‘mbXrd 2) B§S>moZo{e¶m 3) goeëg 4) ‘m°[aeg

8) The Rambutan tree, which was spotted in Maharashtra for the first time in June 2023, is indigenous

to which of the following places?

1) Maldives 2) Indonesia 3) Seychelles 4) Mauritius

9) BOLD Mo nyU© ê$n H$m` Amho?
1) bmB’$ S>oQ>m~ogMm ~maH$moS> 2) Ordemó Am°’$ bmB’$ S>oQ>m~og
3) {bpìh§J S>oQ>m~ogMm ~maH$moS> 4) {Od§V S>oQ>m~ogMo Ordemó

9) What is full form of BOLD?

1) Barcode of Life Database 2) Biology of Life Database

3) Barcode of Living Database 4) Biology of Living Database

10) FISH Mo nyU© ê$n H$m` Amho?
1) âbmoamogoÝg BZ {gQy> hm`{~«S>m`PoeZ 2) âbmoamonmoa BZ {gQy> hm`{~«S>m`PoeZ
3) {g{bH$mo g§H$arV âbmoamog|Q> 4) {g{bH$mo g§H$arV âbmoamonmoa

10) What is full form of FISH?

1) Fluorescence in situ hybridisation 2) Fluoropore in situ hybridisation

3) Fluorescent in silico hybridisation 4) Fluoropore in silico hybridisation
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11) SNP Mo nyU© ê$n Amho:
1) AS>H$boë`m Ý ỳŠbr nm°{b‘m°{’©$P‘ 2) qgJb Ý ỳpŠb`moQ>mBS> nm°brQ>mo‘
3) qgJb Ý ỳpŠb`moQ>mBS> nm°{b‘m°{’©$P‘ 4) ñQ|́S>oS> Ý ỳpŠb`moQ>mBS> nm°brQ>mo‘

11) The full form of SNP is:

1) Stranded Nuclei Polymorphism 2) Single Nucleotide Polytome

3) Single Nucleotide Polymorphism 4) Stranded Nucleotide Polytome

12) Imbrbn¡H$s H$moUVm ‘mZdd§eemómMm Cn{d^mJ Zmhr?
1) gm‘m{OH$-gm§ñH¥${VH$ 2) ^mfmemó 3) O¡{dH$ 4) AmoS>moÝQ>mobm°Or

12) Which of the following is NOT a subsection of anthropology?

1) Socio-cultural 2) Linguistics 3) Biological 4) Odontology

13) Prb ZoëgZ ho ñQ>oZ ......... AmoiIÊ`mgmR>r dmnaVmV.
1) B©.H$mobr 2) ‘m`H$mo~°ŠQ>o[a`m 3) gmë‘moZobm 3) ñ ỳS>mo‘moZmg

13) Ziehl-Neelsen stain is used to identify ..........

1) E.Coli 2) Mycobacteria 3) Salmonella 3) Pseudomonas

14) Ý ỳpŠbH$ A°{gS> Zgboë`m gdm©V bhmZ g§gJ©OÝ` à{WZ H$Um§Zm åhUVmV
1) ìhm`[a`Ýg 2) {àAm°Ýg 3) `rñQ> 4) {OdmUy

14) The smallest infectious protein particle devoid of nucleic acid are called as

1) Virions 2) Prions 3) Yeast 4) Bacterie

15) Vya {nH$mda nS>Umam ñQ>[a{cQ>r ‘moµOoH$ hmamoJ..... ‘wio hmoVmo.
1) {dfmUy 2) {OdmUy 3) ~waer 4) Zo‘mQ>moS²g

15) The sterility mosaic of pigeon pea is caused by

1) Virus 2) Bacteria 3) Fungus 4) Nematodes

16) H$moUVm ̂ mVmMm amoJ Xanthomonas campestris pv oryzae ‘wio hmoVmo?
1) ñ’$moQ> 2) å`mZ Hw$OUo
3) OrdmUyOÝ` nmZm§Mm VwQ>dS>m 4) å`mZMm Ìmg

16) Which rice disease is caused by Xanthomonas campestris pv. oryzae ?

1) Blast 2) Sheath rot

3) Bacterial leaf blight 4) Sheath blight

17) .......... naOrdr g§gJ© H$ÀÀ`m qH$dm Anwao {eOdbobo Sw>H$amMo ‘m§g Am{U Sw>H$amMo ‘m§g CËnmXZm§À`m godZmZo hmoVmo.
1) {S>{’$bmo~mo{W«̀ ‘ b°ŠQ>‘ 2) A°{Zgm{H$g Egnrnr.
3) Q>o{Z`m gmo{b`‘ 4) Q´m`{MZobm g{n©{bg

17) .......... parasitic infection is caused by consumption of raw or insufficiently cooked pork and pork

products.

1) Diphyllobothrium lactum 2) Anisakis spp.

3) Taenia solium 4) Trichinella spiralis
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18) Imbrbn¡H$s H$moUË`m Zm`Q´moOZ {’$pŠg§J ~°ŠQ>o[a`mMm V¥UYmÝ ò Am{U JdVmÀ`m ‘wim§er ghg§~§Y Amho?
1) PSB 2) Rhizobium 3) Azospirillum 4) KSB

18) Which of the following nitrogen fixing bacteria have associative relationship with cereal and

grass roots ?

1) PSB 2) Rhizobium 3) Azospirillum 4) KSB

19) Imbrbn¡H$s H$moUVr {dYmZo ‘mH$S>-Am°Šg {dfmUy~Ôb gË` AmhoV?
a) hm Xwhoar AS>H$bobm DNA ìhm`ag Amho.
b) Am°Wm}nm°Šgìhm`ag d§emer g§~§{YV Amho.
c) ‘mUgmH$Sy>Z ‘mUgmV g§H«${‘V hmoV Zmhr.
d) g§H«${‘V ì`º$sÀ`m Vido Am{U Vido gm‘mÝ`V… nwai {XgVmV.
n¶m©¶r CÎmao …
1) a, b, c 2) a, c, d 3) b, c, d 4) a, b, d

19) Which of the following statements are true about monkey-ox virus ?

a) It is a double stranded DNA virus.

b) Belongs to Orthopoxvirus genus.

c) Not transmitted from human to human.

d) Palms and soles of infected person commonly show rash.

Answer Options :

1) a, b c 2) a, c, d 3) b, c, d 4) a, b, d

20) ............... ho nm°{P{Q>ìh qgJb-ñQ±́S>oS> RNA Mo EH$ CXmhaU Amho.
1) a°~S>moìhm`ag 2) n°am{‘Šgmoìhm`ag 3) Am°Wm}‘m`Šgmoìhm`ag 4) nmo{bAmoìhm`ag

20) .............. is an axample of Positive single-stranded RNA.

1) Rhabdovirus 2) Paramyxovirus 3) Orthomyxovirus 4) Poliovirus

21) gd© dZñnVtÀ`m noet‘Ü ò Imbrbn¡H$s H$moUVo AmT>iV Zmhr?
1) H$S>H$ gob q^V 2) ‘Ü` ìh°Š ỳAmob 3) ßbmpñQ>S²g 4) g|Q́mogmo‘

21) Which of the following is not found in cells of all plants ?

1) Rigid cell wall 2) Central vacuole 3) Plastids 4) Centrosomes

22) ~wbÀ`m go{‘Zb ìho{gH$ëgMo òmd ^anya à‘mUmV AgVmV -
1) H$m°na 2) ’«w$ŠQ>moO 3) ‘°ZmoO 4) Oob

22) Bull’s seminal vesicles secretions are rich in -

1) Copper 2) Fructose 3) Mannose 4) Gel

23) Imbrbn¡H$s H$moUVr bmb aº$ àUmbr Zmhr?
1) Ho$b 2) S>’$s 3) ABO 4) HLA

23) Which of the following is NOT a red blood system?

1) Kell 2) Duffy 3) ABO 4) HLA
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24) e§IemómMm Aä¶mg åhUOo H$emMm Aä¶mg ?
1) {gc|Q>aoQ> 2) ‘mocwñH$m
3) ‘mocwñH$m§Mo H$dM 4) ‘mocwñH$m§Mo AmdaU

24) Conchology is the study of what ?

1) Coelenterates 2) Mollusca

3) Shells of Mollusca 4) Mantle of Mollusca

25) ___hr CËH«$m§VrMr EH$ ̀ §ÌUm Amho Á`m‘Ü ò bmoH$g§» òMr Ebrb {’«$¹o$Ýgr {nT>çmZ{nT>çm g§Yr‘wio ~XbVo (Z‘wZm ÌwQ>r).
1) AZwdm§{eH$ àdmh 2) OZwH$ àdmh
3) {hMhmBqH$J à^md 4) AZwdm§{eH$ ‘oH$ An

25) ______ is a mechanism of evolution in which the allele frequencies of a population change over

generations due to chance (sampling error).

1) Genetic drift 2) Gene flow

3) Hitchhiking effect 4) Genetic make up

26) VéU {Od§V OÝ‘mbm òVmV na§Vw àmW{‘H$ A{dH${gV AdñWoV Ago åhUVmV:
1) ‘oQ>mWo[a`m 2) ẁWo[a`m 3) àmoQ>moWo[a`m 4) darbn¡H$s Zmhr

26) The young are born alive but in a rudimentary undeveloped condition is known as :

1) Metatheria 2) Eutheria 3) Prototheria 4) None of the above

27) hdoVrb H$moUVm KmVH$s àXÿfH$ AmoPmoZ Zï> H$aVmo?
A) H$m~©Z S>m¶Am°³gmB©S> ~) ³bmoamoâë¶wamoH$m~©Z
H$) H$m~©Z ‘moZm°³gmB©S> S>) gë’$a S>m¶Am°³gmB©S>
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U H$ 4) ’$º$ H$

27) Which is the dangerous pollutant of air that destroys Ozone ?

A) Carbon dioxide B) Chlorofluorocarbon

C) Carbon monoxide D) Sulphur dioxide

Answer options :

1) Only A 2) Only B 3) A and C 4) Only C

28) gmR>dUwH$sXaå`mZ dobMrMm {hadm a§J {Q>H$dyZ R>odÊ`mgmR>r Imbrbn¡H$s H$moUVm CnMma gdm}Îm‘ Amho?
1) {hadr (Amobr) dobMr 2.0% gmo{S>`‘ H$m~m}ZoQ>‘Ü ò 10 {‘{ZQ>o {^OV R>odm.
2) {hadr (Amobr) dobMr 2.0% gmo{S>`‘ H$m~m}ZoQ>‘Ü ò 20 {‘{ZQ>o {^OV R>odm.
3) {hadr (Amobr) dobMr 2.0% nmoQ>°{e`‘ H$m~m}ZoQ>‘Ü ò 10 {‘{ZQ>o {^OdyZ R>odm.
4) {hadr (Amobr) dobMr 2.0% nmoQ>°{e`‘ H$m~m}ZoQ>‘Ü ò 20 {‘{ZQ>o {^OV R>odm.

28) For retention of green colour of cardamom during storage, which of the following treatment is

found best ?

1) Soaking green (wet) cardamom in 2.0% sodium carbonate for 10 minutes

2) Soaking green (wet) cardamom in 2.0% sodium carbonate for 20 minutes

3) Soaking green (wet) cardamom in 2.0% potassium carbonate for 10 minutes

4) Soaking green (wet) cardamom in 2.0% potassium carbonate for 20 minutes
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O¡dV§ÌkmZ

1) W‘©g A°¹$m{Q>H$g hm EH$ gm‘mÝ` J«m‘-ZH$mamË‘H$ ~°ŠQ>o[a`m Amho Omo nrgrAma‘Ü ò dmnaÊ`mV òUmam ______

KQ>H$ V`ma H$aÊ`mgmR>r dmnabm OmVmo.
1) MgCl

2
2) DNTPs 3) DNA polymerase 4) BSA

1) Thermus aquaticus is a typical gram-negative bacteria used for the preparation of ______

component used in PCR.

1) MgCl
2

2) DNTPs 3) DNA polymerase 4) BSA

2) 1901 ‘Ü ò Q>r. EM. ‘m°J©Z `m§Zr nwZO©Ý‘mÛmao {OdmV {dH${gV hmoÊ`mMr noetMr j‘Vm Xe©{dÊ`mgmR>r hm eãX V`ma
Ho$bm.
1) «̂yUOZZ 2) Q>mo{Q>nmoQ>oÝgr 3) ‘ëQ>rnmoQ>oÝgr 4) darbn¡H$s Zmhr

2) In 1901 T. H. Morgan coined the term to denote the capacity of cell to develop into an organism

by regeneration is called as

1) Embryogenesis 2) Totipotency 3) Multipotency 4) None of the above

3) [aìhg© Q´mÝg{H«$ßQ>ogMo OZwH$ Oo EMAm`ìhr g§gJm©À`m {ZXmZmgmR>r ‘mH©$a åhUyZ à`moJemioV Cn¶wº$ R>aVo, Vo ........
Amho.
1) Gag 2) Tat 3) Pol 4) Env

3) The gene for reverse transcriptase which act as marker for laboratory diagnosis of HIV infection

is ........

1) Gag 2) Tat 3) Pol 4) Env

4)  ............ À¶m Bbm±JoeZ Ûmao Q´>mÝgbmoHo$eZ KSy>Z Amë¶mg Ë¶mbm Q´mÝgbmoHo$g åhUVmV.
1) ’°$³Q>a - A 2) ’°$³Q>a C 3) ’°$³Q>a E 4) ’°$³Q>a G

4) Translocation brought about by elongation .......... is called as translocase.

1)  Factor A 2) Factor C 3) Factor E 4) Factor G

5) [aH$m°på~Z§Q> S>rEZE V§ÌkmZmMm g‘mdoe Amho
1) gyú‘{Odm§Mr Z¡g{J©H$ j‘Vm gwYmaUo
2) Ë`m§Zm ZdrZ à{H«$`m H$aÊ`mg gj‘ ~ZdUo
3) ZdrZ j‘Vogh gyú‘Ord emoYUo
4) darb gd©

5) Recombinant DNA technology involves

1) Improving the natural capabilities of microorganisms

2) Making them capable of novel processes

3) Discovering microorganisms with new capabilities

4) All of the above

6) ‘mZdoVa S>rEZE Q>m`qnJ‘Ü ò, Z‘wÝ`m§Mr ^m¡Jmo{bH$ AgmBZ‘|Q______Mr AmoiI H$ê$Z Am{U àOmVtÀ`m AZwdm§{eH$
S>oQ>m~oger VwbZm H$ê$Z Ho$br OmD$ eH$Vo.
1) ’$m°aopÝgH$br ‘m{hVrnyU© Ý ỳpŠb`moQ>mBS> AZwH«$‘ 2) RFLP ~±S>
3) O§H$ S>rEZE 4) em°Q>© Q>±S>‘ nwZamd¥Îmr
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6) In non-human DNA typing, geographic assignment of samples can be done by the identification

of ______ and its comparison with the genetic database of the species.

1) forensically informative nucleotide sequences 2) RFLP bands

3) junk DNA 4) short tandem repeats

7) doñQ>Z© ãbm°qQ>J ............ V§ÌmV nm°brE{H«$bm‘mBS> Oob‘Ü ò BboŠQ´mo’$moaog Ho$bo OmVo Am{U Zm`Q´mogoë ẁbmoO qH$dm
Zm`bm°Z {P„rda ñWmZm§V[aV Ho$bo OmVo.
1) AmaEZE 2) S>rEZE 3) à{WZo 4) darb gd©

7) In western blotting ............ technique are electrophoresed in polyacrylamide gel and transferred

onto a nitrocellulose or nylon membrane.

1) RNA 2) DNA 3) Proteins 4) All of the above

8) nrgrAma‘Ü ò S>rEZQ>rnrMr ŷ{‘H$m H$m` Amho?
1) DNA ñQ±́S>Mm gh-KQ>H$ åhUyZ H$m ©̀ H$am. 2) Ý ỳpŠbH$ A°{gS> aoUy§Mo Amdûm`H$ {~pëS§>J ãbm°Šg.
3) nrgrAmabm pñWaVm àXmZ H$am. 4) S>rEZEMo {dH¥$VrH$aU.

8) What is the role of DNTPs in PCR?

1) Act as a co-factor to DNA strand.

2) Essential building blocks of nucleic acid molecules.

3) Provide stability to the PCR.

4) Denaturing of DNA.

9) {Z~ªY E§PmBågÛmao H$mnboë`m DNA VwH$S>çm§Zm doJio H$aÊ`mgmR>r Imbrbn¡H$s H$moUVr nÕV dmnabr OmVo?
1) nrgrAma 2) doñQ>Z© ãbm°qQ>J
3) Oob BcoŠQ´mo’$moao{gg 4) g|Q´râ¶wJoeZ

9) Which of the following method is used for separation of DNA fragments cut by restriction

enzymes?

1) PCR 2) Western blotting

3) Gel electrophoresis 4) Centrifugation

10) .......... hr {ZdS>boë`m DNA H«$‘ dmT>dÊ`mMr MmMUr Q>çy~ nÕV Amho.
1) nm°{b‘aoP gmIir à{V{H«$`m 2) aoS>m°Šg g§̂ mì` à{V{H«$`m
3) Am°pŠgS>oeZ à{V{H«$`m 4) KQ> à{V{H«$`m

10) .......... is a test tube method for amplifying a selected DNA sequence.

1) Polymerase chain reaction 2) Redox potential reaction

3) Oxidation reaction  4) Reduction reaction

11) ............ àË òH$ 500 Ý ỳpŠb`moQ>mBS²g‘Ü ò EH$Xm qH$dm à{V OrZmo‘ gw‘mao 107 doim CØdVo.
1) ~hþê$nVm 2) AZwdm§{eH$ CËn[adV©Z
3) S>rEZEMr nwZa©MZm 4) à{WZo CËnmXZ

11) ............... occurs once in every 500 nucleotides or about 107 times per genome.

1) Polymorphism 2) Genetic mutation

3) Rearrangement of DNA 4) Protein production
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12) “Lumpi-Pro Vacinne” V§ÌkmZm~m~V Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho/AmhoV?
a) ICAR-NRCE B{¹$Ýg Am{U ICAR-IVRI BOmWmJa `m§Zr {dH${gV Ho$bo Amho
b) EbEgS>r {déÕ àmÊ`m§À`m amoJà{V~§YH$ bgrH$aUmgmR>r dmnabm OmVmo
c) bgrH$aUmÀ`m EH$m S>mogZ§Va EbEgS>rnmgyZ XrKm©̀ wî` g§ajU XoVo
d) IVBP nwUo `m§Zm ì`mdgm{`H$ CËnmXZmgmR>r gwnyX© Ho$bo Amho
n`m©¶r CÎmao :
1) ’$º$ a Am{U d 2) ’$º$ b 3) ’$º$ c 4) ’$º$ d

12) Which of the following statement/s is/are incorrect regarding “Lumpi-Pro Vaccine” technology?

a) is developed by ICAR-NRCE equines and ICAR-IVRI Izathagar

b) is used for the prophylactic immunization of animals against LSD

c) gives long life protection against LSD after single dose of immunization

d) is handed over for commercial production to IVBP Pune

Answer options :

1) a and d only 2) b only 3) c only 4) d only

13) ...... ¶m§nmgyZ {Vgè¶m {nT>rMo (WS>© OZaoeZ) ~m¶moBWoZm°b {‘iVo.
1) ImÚnXmW© AmYm[aV ImÚgmR>o 2) g‘{n©V D$Om© {nHo$
3) bmH$S>mMo Adeof 4) e¡dmb O¡d^ma

13) The third generation Bioethanol is obtained from ______.

1) food based feed stocks 2) dedicated energy crops

3) wood residue 4) algal biomass

14) bhmZ bmoH$g§» ònojm OdiÀ`m ì`º$s EH$‘oH$m§er gmo~Vr H$aVmV Voìhm ______hmoVmo.
1) BZ~«rqS>J 2) AmCQ>~«rqS>J 3) g§ñWmnH$ à^md 4) HW g‘Vmob

14) When closely related individuals mate with each other over a smaller population size, it leads

to______.

1) Inbreeding 2) Outbreeding 3) Founder effect 4) HW equilibrium

15) àOmVtÀ`m AmoiIrgmR>r, d¡km{ZH$ g‘wXm`mÛmao à‘m{UV Am{U ì`mnH$nUo ñdrH$maboë`m àOmVtMr nwï>r H$aÊ`mgmR>r
Imbrbn¡H$s H$moUVo V§Ì dmnabo OmVo?
1) OrZmoQ>mBqnJ 2) Oob-AmYm[aV àOmVr AmoiI
3) S>rEZE AZwH«$‘ 4) AmaQ>r-nrgrAma AmYm[aV AmoiI

15) For identification of species, which of the following techniques is used to confirm the species

that is validated and widely accepted by the scientific community?

1) Genotyping 2) Gel-based species identification

3) DNA sequencing 4) RT-PCR based identification

amoJ{dkmZ

1) A°boŠPm§S>a âboq‘J ̀ m§Zr ~°ŠQ>o[a`mÀ`m noQ´r{S>eda dmT>Umam gmMm ~°ŠQ>o[a`mÀ`m Sw>pßbHo$eZbm à{V~§{YV Ho$ë`mMo bjmV
Ambo, Ë`m§Zr AmoiIbo H$s gmMm {OdmUy Zï> H$ê$ eH$Umao goë’$ {S>’o$Ýg Ho${‘H$b V`ma H$aVo, ho dfm©Vrb n{hbo
à{VO¡{dH$ no{Z{g{bZ Amho.
1) 1828 2) 1945 3) 1928 4) 1857
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1) Alexander Fleming noticed the mould growing on a petridish of bacteria preventing the duplication

of bacteria, he identified that mould produced self defence chemical that could kill bacteria, is

the first antibiotic penicillin in the year

1) 1828 2) 1945 3) 1928 4) 1857

2) E§{O`moñn‘© {’$bmoOoZr J«wnZo ...... ‘Ü ò APG dJuH$aU {dH${gV Ho$bo.
1) 1996 2) 1997 3) 1993 4) 1998

2) Angiosperm Phylogeny Group developed APG classification in ......

1) 1996 2) 1997 3) 1993 4) 1998

3) gwH$boë`m aº$s (blood meal ) ‘Ü¶o ...........% Zm`Q´moOZ AgVo.
1) 10 Vo 12 2) 12 Vo 15 3) 4 Vo 10 4) 13

3) The dried blood meal contains ............. % nitrogen.

1) 10 to 12 2) 12 to 15 3) 4 to 10 4) 13

4) Iam~ hmoD$ Z ò åhUyZ BÝgw{bZ B§OoŠeZ ............ Vmn‘mZmg gmR>dyZ R>odVmV.
1) 150go Vo 250go 2) 20go Vo 80go 3) -200go 3) -800go

4)  To avoid spoilage insulin injection should be stored at ............

1) 150C to 250C 2) 2 0C to 80 C 3) -200 C 3) -800 C

5) ‘wcmMm Vmn 1040 F Amho. ho Vmn‘mZ {H$Vr {S>J«r gopëg¶g Amho ?
1) 350 gopëg¶g 2) 370 gopëg¶g 3) 390 gopëg¶g 4) 400 gopëg¶g

5) The fever of a child is 104°F. What is this temperature in degree Celsius ?

1) 35°C 2) 37°C 3) 39°C 4) 40°C

6) H$mMoMr ̂ m§S>r, g§X§e, H$mÌr {ZOªVwH$ H$aÊ`mgmR>r amIÊ`mMm {e’$mag Ho$bobm H$mbmdYr Am{U Vmn‘mZ ______ Amho.
1) 45 {‘{ZQ>m§gmR>r 120°C 2) 60 {‘{ZQ>m§gmR>r 160°C

3) 7.5 {‘{ZQ>m§gmR>r 180°C 4) 30 {‘{ZQ>m§gmR>r 180°C

6) The recommended holding period and temperature to be maintained for sterilising glassware,

forceps, scissors is ______.

1) 120°C for 45 minutes 2) 160°C for 60 minutes

3) 180°C for 7.5 minutes 4) 180°C for 30 minutes

7) ‘hmamï´> H$maImZm {Z`‘, 1963 ‘Ü ò, g§X^m©Zwgma AÝ`Wm Amdûm`H$ Zgë`mg, "{S>J«r' (qH$dm Vmn‘mZ) åhUOo
A§e......
1) g|Q>rJ«oS> ñHo$bda 2) H°$barO
3) ’°$aoZhmBQ> ñHo$bda 4) {~«{Q>e W‘©b ẁ{ZQ²g

7) In Maharashtra Factories Rules, 1963, unless the context otherwise requires, ‘Degrees’ (or

temperature) means degrees ___________.

1) On the centigrade scale 2) Calories

3) On the Fahrenheit scale 4) British thermal units



‘hmamîQ́> bmoH$godm Am¶moJ narjm 2023/ 160

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : Mmcy KS>m‘moS>r  / 160

For Private Circulation Only

8) {g{’${cg amoJmg O~m~Xma Agboë`m ñnm`amo{MQ> ~°ŠQ>o[a`mMm àH$ma ......... Amho.
1) boßQ>moñnm`am 2) ho{bH$mo~°ŠQ>a 3) ~moao{b`m 4) Q́onmoZo‘m

8) The type of spirochaete bacteria responsible for producing syphilis is ..........

1) Leptospira 2) Helicobacter 3) Borrelia 4) Treponema

9) Aë’$m A{‘Zmo ~rQ>m {’$ZmBb àmo{n`mo{ZH$ E°{gS> ........ Amho.
1) Q>m`amo{gZ 2) ’o${Zb°bm{ZZ 3) A°bmZmBZ 4) ½bmB{gZ

9) Alpha amino beta phenyl propionic acid is ..........

1) Tyrosine 2) Phenylalanine 3) Alanine 4) Glycine

10) dZñnVr ’$m°Šg½bmoìh‘Ü ò CnpñWV H$m{S>©̀ mH$ ½bm`H$mogmBS²g AmhoV:
1) H«$mo{Q>Z Am{U H«$moQ>moZmogmBS> 2) {S>Jm°pŠgZ Am{U {S>{OQ>m°pŠgZ
3) hm`mogmBZ Am{U hm`mogm`‘mBZ 4) ñQ´m`ŠZmB©Z Am{U ~«w{gZ

10) Cardiac glycosides present in the plant foxglove are:

1) crotin and crotonoside 2) digoxin and digitoxin

3) hyoscine and hyoscyamine 4) strychnine and brucine

11) ÐmjmV AmT>iUmam âboìhmoZm°BS>Mm à‘wI âboìhmoZm°BS> àH$ma hm Amho:
1) E{nOo{ZZ 2) Z[a¨Jo{ZZ 3) ¹o$g}{Q>Z 4) Oo{ZpñQ>Z

11) The Predominant flavanone type of flavonoid found in grapefruit is :

1) Apigenin 2) Naringenin 3) Quercetin 4) Genistin

12) qb~ydJu` ’$im§‘Ü ò AmT>iUmam âboìhmoZm°BS>Mm ‘w»` àH$ma hm Amho:
1) E{nOo{ZZ 2) H°$Q>o{MZ 3) hoñno[a{S>Z 4) Oo{ZñQ>rZ

12) The predominant flavanone type of flavonoid found in the citrus fruits is :

1) Apigenin 2) Catechin 3) Hesperidin 4) Genistein

13) S>m`{WPmoZMm H$moUVm {dñVm[aV àH$ma {eemMr ‘`m©Xm MmMUr VnmgÊ¶mgmR>r dmnabm OmVmo ?
1) S>m`’o${Zb H$m~m©PmoZ 2) S>m`’o${Zb Wm`moPmoZ
3) {S>’o${Zb Wm`moH$m~©PmoZ 4) {S>’o$bm‘mBZ

13) Expanded form of dithizone, which is used in the limit test for lead is :

1)  Diphenyl carbazone 2) Diphenyl thioazone

3) Diphenyl thiocarbazone 4) Diphelamine

14) S°́JZS>m°’©$ hm [aEO§Q>/A{^H$‘©H$ ........... Mo ÐmdU Amho.
1) nmoQ>H°${eA‘ ‘Š ẁ©[aH$ Am`moS>mBS> 2) ’$m°ñ’$moQ>§JpñQ>H$ E°{gS>
3) g§V¥á {nH$[aH$ E°{gS> 4) nmoQ>°{e`‘ {~ñ‘W Am`moS>mBS>

14) Dragendorff reagent is a solution of ...........

1) Potqassium mercuric iodide 2) Phosphotungstic acid

3) Saturated Picric acid 4) Potassium Bismuth iodide
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15) S>m°. '’«$mÝgMo eoabm°H$ hmoåg' åhUyZ à{gÕ Agbobo ES>‘§S> bmoH$mS>©, ’$m°aopÝgH$ gm`ÝgÀ`m joÌmV AmYma{ebm åhUyZ
H$m‘ H$aUmè`m ‘yb ŷV AmYmamÀ`m {Z{‘©VrgmR>r gd©Ì AmoiIbo OmVo. Ë`mZo H$moUVo VËd ‘m§S>bo?
1) gmYo R>odm.
2) àË òH$ g§nH©$ EH$ Qóg gmoS>Vmo.
3) Oa H$mhr MyH$ hmoD$ eH$Vo, Va Vo hmoB©b.
4) àË òH$ {H«$ ògmR>r g‘mZ Am{U {déÕ à{V{H«$`m AgVo.

15) Dr. Edmond Locard, renowned as the ‘Sherlock Holmes of France’, is widely acknowledged for

his formulation of a fundamental premise that serves as a cornerstone in the field of forensic

science. What principle did he propose?

1) Keep it simple. 2) Every contact leaves a trace.

3) If anything can go wrong, it will. 4) For ev

16) é½Umb`mVrb AmH$S>odmarÀ`m g§X^m©V Imbrb {dYmZmMm {dMma H$am. Ë`mn¡H$s H$moUVo/`mo½` AmhoV?
a) é½Umb`mVrb AmH$S>odmar ^mOH$ Zmhr ’$º$ A§e àXmZ H$aVo.
b) g‘mOmVrb amoJm§À`m dma§dmaVoÀ`m A§XmOmgmR>r é½Umb`mVrb AmH$S>odmar hr EH$ Iam~ ‘mJ©Xe©H$ Amho.
c) é½Umb`mVrb AmH$S>odmar Amamo½` godm§À`m {Z`moOZ Am{U ‘yë`‘mnZmgmR>r ‘m¡ë`dmZ ‘m{hVr àXmZ H$aV Zmhr.
d) é½Umb`mVrb AmH$S>odmar bmoH$g§» òÀ`m àm{V{Z{YH$ Z‘wÝ`mMr ‘m{hVr XoVmV.
n¶m©¶r CÎmao …
1) a ’$º$ 2) a Am{U b ’$º$ 3) c Am{U d ’$º$ 4) d ’$º$

16) Consider the following statement in regards to hospital statistics. Which of them is/are correct?

a) Hospital statistics provides only numerator not denominator.

b) Hospital statistics is a poor guide to estimation of disease frequency in community.

c) Hospital statistics do not provide valuable information for planning and evaluation of health

case services.

d) Hospital statics provide information on a representative sample of population.

Answer options :

1) a only 2) a and b only 3) c and d only 4) d only

17) ~ÝgS>mobm hm Jim Xm~Ê`mMm EH$ àH$ma Amho:
1) ApñW~§YZ 2) hmV 3) bmH$S>r H$mR>çm 4) H$monamMo dmH$Uo

17) Bansdola is a form of strangulation by:

1) ligature 2) hands 3) wooden sticks 4) bend of elbow

18) ‘La facies sympathique’ hr pñWVr Imbrb ~m~VrV {XgyZ òVo:
1) ’$mer XoUo 2) Jim Xm~Uo 3) Ji’$mg KoUo 4) aoëdo AnKmV

18) The condition ‘La facies sympathique’ is observed in case of:

1) hanging 2) strangulation 3) throttling 4) railway accidents

19) Amamo½` {ejUmMr VÎdo dJiVm gd© g‘m{dï> AmhoV.
1) gh^mJ 2) àoaUm 3) ‘O~wVrH$aU 4) {ejm

19) Principles of health education include all except.

1) Participation 2) Motivation 3) Reinforcement 4) Punishment
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20) g‘mOmMo ‘yb ŷV EH$H$ Amho.
1) eoOmar 2) JQ> 3) Hw$Qw>§~ 4) g‘wXm`

20) is the basic unit of society.

1) Neighbourhood 2) Group 3) Family 4) Community

21) Vrd« AmOmamÀ`m {dfmUyMm A§XmO bmdÊ`mgmR>r gdm©V Cn ẁº$ ‘mnX§S> åhUOo .........
1) Ho$g ‘¥Ë ỳ Xa (CFR) 2) Xwæ`‘ h„m Xa (SAR)

3) KQ>Zm 4) à‘m{UV ‘¥Ë ỳ à‘mU (SMR

21) Most useful parameter to predict the virulence of acute illness is .........

1) Case Fatality Rate (CFR) 2) Secondary Attack Rate (SAR)

3) Incidence 4) Standardised Mortality Ratio (SMR)

22) àË¶oH$ {gJmaoQ>da A{Zdm¶© Amamo½¶{df¶H$ MoVmdUr XoUmam H$moUVm Xoe OJmVrb n{hbm Xoe ~Zbm Amho?
1) H°$ZS>m 2) a{e¶m 3) BQ>br 4) Hw$d¡V

22) Which country has become the first country in the world to mandate mandatory health warnings

on individual cigarettes ?

1) Canada 2) Russia 3) Italy 4) Kuwait

nrH${dkmZ

1) àW‘ g§H$[aV Vm§Xyi 1976 ‘Ü ò g§H$[aV Vm§Xyi H«$m§VrMo OZH$ .......... `m§Zr {dH${gV Ho$bo hmoVo.
1) àmo’o$ga ẁdmZ bm±J qnJ 2) S>m°. E‘.Eg. ñdm{‘ZmWZ
3) S>m°. Zm°‘©Z B©. ~moabm°J 4) ~madmbo ~r.Ama.

1) First hybrid rice was developed by.......... in 1976, the father of Hybrid Rice Revolution.

1) Professor Yuvan Long Ping 2) Dr. M.S. Swaminathan

3) Dr. Norman E. Borlaug 4) Barwale B.R.

2) ‘mM© 2023 ‘Ü ò AbrH$S>oM A{Ygy{MV Ho$boë`m BDN - 2013 - 2 (aoUwH$m) OmVrMo Imbrbn¡H$s H$moUVo d¡{eï²>`
Amho/Zmhr?
a) ‘hmamï´>, JwOamV, ‘Ü` àXoe, amOñWmZ Am{U N>ÎmrgJS> `m amÁ`m§gmR>r `mMr {e’$mag Ho$br OmVo.
b) Ë`mV nm§T>è`m a§JmMo ~r AgVo.
c) Vo bdH$a n[an¹$ hmoVo.
d) ho {dëQ>bm à{VamoYH$ Amho Am{U ñQ>[a{bQ>r ‘moµOoH$gmR>r amoJà{VH$maH$ Amho.
n`m©¶r CÎmao :
1) a, b, c Am{U d 2) b Am{U c ’$º$ 3) a Am{U d ’$º$ 4) ’$º$ a

2) Which of the following is/are not feature/s of BDN — 2013 — 2 (Renuka) variety of pigeonpea

recently notified in March 2023 ?

a) It is recommended for State of Maharashtra, Gujarat, Madhya Pradesh, Rajasthan and Chattisgarh.

b) It has white colour seed.

c) It is early maturing.

d) It is resistant to wilt and immune to sterility mosaic.

Answer options:

1) a, b, c and d 2) b and c only 3) a and d only 4) a only
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3) ^maVmÀ`m FSSAI Zo ~mOatgmR>r EH$ ì`mnH$ JQ> ‘mZH$ {Z{X©ï> Ho$bo Amho ’y$S> goâQ>r A±S> ñQ>±S>S>© (AÞ CËnmXZo ‘mZHo$
Am{U ImÚ nXmW©) {ÛVr` XwéñVr {Z`‘Z 2023; `m g§X^m©V; Imbrbn¡H$s H$moUVo {dYmZ/Zo MwH$sMo Amho/AmhoV?
a) nydu ~mOar `m H$m`ÚmÀ`m H$joV ZìhVr.
b) Ádmar, ~mOar, ZmMUr Am{U amO{Jam ̀ mgma»`m H$mhr ~mOarM AÞ gwajm Am{U ‘mZH$ {d{Z`‘ 2011 ‘Ü ò {d{hV

Ho$boë`m AmhoV.
c) 2 S>r XwéñVrÛmao FSSAI Zo 15 àH$maÀ`m ~mOatgmR>r 8 JwUdÎmoMo ‘mnX§S> {Z{X©ï> Ho$boë`m ‘mZH$m§Mm EH$ JQ> V`ma

Ho$bm Amho.
d) 2 XwéñVr Ëd[aV à^mdmZo bmJy Ho$br OmB©b.
n`m©¶r CÎmao :
1) a, c ’$º$ 2) b, c, d ’$º$ 3) d ’$º$ 4) a, d ’$º$

3) The FSSAI of India has specified a comprehensive group standard for millets Vide Food Safety

and Standard (Food Products Standards and food additives) Second Amendment Regulation 2023;

In this context; which of the following statement/s is/are incorrect ?

a) Earlier millets were not under purview of this act.

b) Only few millets like Jowar, Bajara, Ragi and Amaranthus are prescribed in the Food Safety and

Standard Regulation 2011.

c) By 2"d amendment FSSAI has framed a group of standard for 15 types of millets specifying 8

quality parameters.

d) 2" amendment will be enforced with immediate effect.

Answer options :

1) a, c only 2) b, c, d only 3) d only 4) a, d only

4) AZwdm§{eH$[aË`m gwYm[aV ‘mohar g§H$[aV DMH g§X^m©V - 11;
a) hm`~«rS>À`m ì`mdgm{`H$ bmJdS>rV VUZmeH$ g{hîUwVoMm Xmdm Ho$bm Jobm Amho.
b) ~mZ©go, ~mañQ>ma Am{U ~ma `m VrZ Q´mÝgOoÝg dmnê$Z {dH${gV Ho$bo Amho.
c) OrB© namJU {Z §̀ÌU §̀ÌUm dmnê$Z {dH${gV Ho$bobm hm n{hbm g§H$a Amho.
d) déU OmVrÀ`m VwbZoV gamgar 28% CËnÞmMm ’$m`Xm Xe©{dbm Amho.
darbn¡H$s H$moUVo/`mo½` {dYmZ/AmhoV?
1) a, b, c Am{U d 2) c Am{U d ’$º$ 3) b, c Am{U d ’$º$ 4) b Am{U d ’$º$

4) In context of genetically modified mustard hybrid DMH — 11;

a) herbicide tolerance trait has been claimed in the commercial cultivation of hybrid.

b) is developed by using three transgens i.e.barnase, barstar and bar.

c) is a first hybrid developed using the GE pollination control mechanism.

d) has shown on average, a yield advantage of 28 % over variety varuna.

Which of the above is/are correct statement/s ?

1) a, b, c and d 2) c and d only 3) b, c and d only 4) b and d only

5) ha^am 20211 OmVrÀ`m ~m~VrV Imbrbn¡H$s H$moUVo JwU Iao ZmhrV/Zmhr?
a) dmiboë`m VUmdmÀ`m pñWVrV 3915 {H$bmo/hoŠQ>a CËnmXZ j‘Vm Agbobo ho Cƒ CËnmXZ XoUmao Amho.
b) ho {OZmo{‘Šg - ghmæ`H$ àOZZmÛmao {dH${gV Ho$bo OmVo.
c) ho ICAR — IARI Am{U ICRISAT À`m ghH$m`m©Zo {dH${gV Ho$bo Amho.
d) ho H$Zm©Q>H$ Am{U Am§Y« àXoe amÁ`mV bmJdS>rgmR>r gmoS>bo OmVo.
n`m©¶r CÎmao :
1) ’$º$ a 2) ’$º$ b 3) c Am{U d ’$º$ 4) ’$º$ d
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5) Which of the following traits is/are not true in respect of chick pea 20211 variety ?

a) It is high yielding with yield potential of 3915 kg/ha under wilt stress condition.

b) It is developed via genomics — assisted breeding.

c) It is developed by collaborative efforts ICAR — IARI and ICRISAT.

d) It is released for cultivation in Karnataka and Andhra Pradesh State.

Answer options:

1) a only 2) b only 3) c and d only 4) d only

6) àH$me g§íbofUm‘Ü¶o àH$memda AmYmarV à{H«$¶oMo ‘hÎdmMo H$m¶© H$moUVo Amho?
1) NADH

2
 d ATP Mo ê$nm§Va H$aUo 2) NADPH d ATP Mm Cn¶moJ H$aUo

3) NADPH d ATP Mr {Z{‘©Vr H$aUo 4) darb gd©
6) What is the principal function of the light-dependent reactions of photosynthesis ?

1) To transfer the NADH and ATP 2) To utilize the NADPH and ATP

3) To generate the NADPH and ATP 4) All of the above

7) àH$meg§ícofU dZñnVtÀ`m {d{dY ‘mJmªn¡H$s H$moUË`m ‘mJm©Mr nmUr dmna H$m ©̀j‘Vm H$‘r Amho?
1) C

3
 dZñnVr 2) C

2
 dZñnVr 3) CAM dZñnVr 4) darb gd©

7) Which of the different pathway of photosynthesis plants have lower water use efficiency ?

1) C
3 
plants 2) C

2
, plants 3) CAM plants 4) All of the above

8) Imbrbn¡H$s H$moUVr {nHo$ C
4
 dZñnVr AmhoV?

1) D$g 2) Ádmar 3) ‘H$m 4) darb gd©
8) Among the following, which crops is/are C4, plants ?

1) Sugarcane 2) Sorghum 3) Maize 4) All of the above

9) C
4
 dZñnVt‘Ü`o, ’$m°ñ’$moA°Zm°bnm`é{dH$ A°{gS> H$m~m}pŠPboP‘Ü`o H$m~©Z S>m`Am°ŠgmBS> Am{U Cƒ g§^mì`

{H«$`mH$bmnm§gmR>r Iyn OmñV AmË‘r`Vm Amho. Ë`m‘wio -
a) C

4
 dZñnVt‘Ü ò C

4
 dZñnVtnojm OmñV àH$meg§ícofU Xa AgVmo

b) C
4
 PmS>o XwîH$mi à{VamoYH$ AmhoV Ago åhQ>bo OmVo H$maU Vo Amobmì`mÀ`m VUmdmImbr XoIrb Mm§Jbo dmT>Ê`mg

gj‘ AgVmV
c) C

4
 dZñnVr A{YH$ doJmZo àH$meg§ícofU H$aVmV

d) H$mhr C
4
 dZñnVr H$m~©Z S>m` Am°ŠgmB©S>Mo à‘mU 100 nrnrE‘ AgVmZmhr àH$meg§ícofU H$ê$ eH$VmV.

darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) gd© a, b, c Am{U d

9) In C, plants, phosphoenolpyruvic acid carboxylase has very high affinity for carbon dioxide and

high potential activity. Therefore

a) C
4
 plants have higher photosynthetic rate than C4 plants

b) C
4
 plants are said to be drought resistant as they are able to grow better even under moisture

stress

c) C
4
plants translocate photosynthates more rapidly

d) Some C
4
 plants can photosynthesize even when carbon dioxide concentration is 100 ppm

Which of the above statement/s is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) All a, b, c and d
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10) dZñnVtÛmao àH$meg§í²bofUmÛmao g|{Ð` H$m~©Z‘Ü ò AH$m~©{ZH$ CO Mo ê$nm§Va H$aÊ`mMr Am{U ‘mVrV ~wS>Ê`mMr à{H«$`m
Amho.
1) H$m~©Z H«o${S>Q> 2) àH$meg§ícofU 3) ídgZ 4) H$m~©Z Oá H$aUo

10) is the process of transformation of inorganic CO, through photosynthesis by plants into organic

carbon and sink in soils.

1) Carbon credit 2) Photosynthesis

3) Respiration 4) Carbon sequestration

11) Zm`Q´moOZ pñWarH$aU Am{U Zm`Q´moOZ AmË‘gmV H$aÊ`mgmR>r Amdí`H$ Agboë`m Zm`Q´moOZoO Am{U Zm`QóQ> [aS>ŠQ>oO
E§PmB‘‘Ü ò Imbrbn¡H$s H$moUVo gyú‘ nmofH$ KQ>H$ AgVmV?
1) qPH$ 2) ‘±JZrO 3) ‘m°{bãS>oZ‘ 4) ~moam°Z

11) Which of the following micronutrient present in nitrogenase and nitrate reductase enzymes

essential for nitrogen fixation and nitrogen assimilation ?

1) Zinc 2) Manganese 3) Molybdenum 4) Boron

12) ............ À`m à{H«$ òXaå`mZ Zm`Q´mogmo‘moZmg ~°ŠQ>o[a`mÛmao A‘mo{Z`‘Mo Zm`QóQ>‘Ü ò ê$nm§Va hmoVo.
1) Zm`{Q´{’$Ho$eZ 2) I{ZOrH$aU 3) J{VerbVm 4) pñWarH$aU

12) During the process of ............ ammonium is converted into nitrate by Nitrosomonas bacteria.

1) nitrification 2) mineralisation 3) mobilization 4) immobilization

13) Imbrbn¡H$s H$moUË`m {nH$m§Zm APmopñn[ab‘Mm ’$m`Xm hmoVmo?
1) ~mOar, ‘H$m 2) {‘aMr, Q>mo‘°Q>mo 3) ~Q>mQ>m, H$m§Xm 4) ŵB©‘yJ, gỳ ©’y$b

13) Which of the following crops are benefitted by Azospirillum ?

1) Bajra, Maize 2) Chili, Tomato

3) Potato, Onion 4) Groundnut, Sunflower

14) bmHy$S> dZñnVr, ^maVr` amoPdwS>Mo dZñn{V Zmd ............ Amho.
1) Pinus roxburghii Sar 2) Morus alba Linn

3) Dalbergia latifolia Roxb 4) Cedrus deodara Loud

14) The botanical name of timber plant, Indian rosewood is .............

1) Pinus roxburghii Sar 2) Morus alba Linn

3) Dalbergia latifolia Roxb 4) Cedrus deodara Loud

15) XÎmwam Egnrnr. Imbrbn¡H$s H$moUVo g§̂ mì` ì`mdgm{`H$ AëH$bm°BS> g‘m{dï> Amho?
1) Q´monoZ 2) ‘m°{’©$Z 3) {¹$ZmBZ 4) H°${’$Z

15) Dattura spp. contains which of the following potential commercial alkaloid ?

1) Tropane 2) Morphine 3) Quinine 4) Caffeine

16)  gm`boO ~ZdÊ`mgmR>r Imbrbn¡H$s H$moUVo nrH$ gdm©V `mo½` Amho?
1) ‘H$m 2) Mdir 3) ~magr‘ 4) ë ẁgZ©

16) Which of the following is the most suitable crop for silage making ?

1) Maize 2) Cowpea 3) Barsim 4) Lucerne
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17) ............... ho Ja‘ Ho$boë`m nXmWmª‘Ü ò ^mOboë`m Am{U Hw$aHw$arV ñdmXm§er (nutty flavours) g§~§{YV AmhoV.
1) nm`am{PZ 2) A°ñQ>a 3) Q>n}Zog 4) b°ŠQ>moZ

17) ............... are associated with roasted and nutty flavours in heated foods.

1) Pyrazines 2) Esters 3) Terpenes 4) Lactones

18) g§a{jV joÌm‘Ü ò {d{eï> A{Ydmgmn ª̀V ‘`m©{XV Agboë`m Am{U Ë`m joÌm{edm` BVa H$moR>ohr Z AmT>iUmè`m àOmVtZm
_____ àOmVr åhUyZ AmoiIbo OmVo.
1) ñWm{ZH$ 2) ‘m`mdr 3) {dXoer 4) {ZemMa

18) Species that are confined to a particular habitat in a protected area and not found anywhere else

except that area are known as ______ species.

1) endemic 2) elusive 3) exotic 4) nocturnal

19) H$mnyg Jwbm~r ~m|S>Air ........... AdñWoV hm`~aZoQ> H$aVo.
1) A§S>r 2) Aù`m 3) nwnb 4) àm¡T>

19) Cotton Pink bollworm hibernates in ...........stage.

1) Egg 2) Larval 3) Pupal 4) Adult

20) {bMr ¶m Hw$Qw>§~mVrb Amho
1) ‘moamgr 2) ~«mo‘o{b`mgr 3) gqnS>goB© 4) ‘m`Q>}gr

20) Litchi belongs to the family

1) Moraceae 2) Bromeliaceae 3) Sapindaceae 4) Myrtaceae

21) MwH$sMr OmoS>r emoYm.
1) b°{~¶Q>r-b°{‘Egr 2) nm‘r-AaoHo$gr 3) H$ånmo{gQ>r-³ë¶w{gEgr 4) A‘~obr’o$ar-A°{nEgr

21) Find the wrong pair.

1) Labiatae - Lamiaceae 2) Palmae - Arecaceae

3) Compositae - Clusiaceae 4) Umbelliferae — Apiaceae

22) Zm¶Q´>moOZ pñWa H$aÊ¶mgmR>r Imbrbn¡H$s H$moUVo e¡dmio OmñVrV OmñV Cn¶moJr Amho ?
1) ³bmoamo’$m¶gr 2) {‘³Pmo’$m¶gr 3) èhmoS>mo’$m¶gr 4) {’$`mo’$m`gr

22) Which group of Algae plays a dominant rule in Nitrogen Fixation ?

1) Chlorophyceae 2) Myxophyceae 3) Rhodophyceae 4) Phaeophyceae

23) Imbrbn¡H$s H$moUVo ~m°Zo H°$ìh|{S>e Am{U amo~ñQ>m Ho$irMo {OZmo{‘H$ g§{dYmZ Amho?
1) AAB 2) ABB 3) AAA 4) AAAA

23) Which of the following is the genomic constitution of Dwarf Cavendish and Robusta Banana ?

1) AAB 2) ABB 3) AAA 4) AAAA

24) ........ Imbrbn¡H$s ÐmjmÀ`m OmVrMm dmna ìhmB©Q> dmB©Z ~ZdÊ`mgmR>r Ho$bm OmVmo.
1) H°$~aZoQ> gm°{d¾Z 2) {nZmoQ> ãb±H$ 3) no{Q>Q> {gah 4) {nZmoQ> Zm°̀ a

24) ........ grape variety from the following is used for making white wine.

1) Cabernet sauvignan 2) Pinot blanc 3) Petite sirah 4) Pinot noir
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25) "A§{~H$m' hm Am§ã`mMm g§H$a Amho
1) Am‘«nmbr x OZmX©Z nmg§X 2) Am‘«nmbr x Aë’$mÝgmo
3) Am‘«nmbr x dZamO 4) {Zc‘ x Xehar

25) ‘Ambika’ a mango hybrid is a cross between

1) Amrapali x Janardhan Pasand 2) Amrapali x Alphanso

3) Amrapali x Vanraj 4) Neelum x Dashehari

26) Imbrb OmoS>çm Owidm :
   ~mOar       dZñnVr Zmd
A) ~moQ> ~mOar 1) Panicum sumatrense

~) N>moQ>r ~mOar 2) Setaria BQ>m{cH$m
H$) ’$m°ŠgQ>ob ~mOar 3) n°{ZH$‘ {‘br{g`‘
S>) àmogmo ~mOar 4) A°ë ẁ{gZ H$moamH$mZm
n¶m©¶r CÎmao …

A ~ H$ S>
1) 1 2 3 4

2) 3 4 2 1

3) 4 1 2 3

4) 2 1 3 4

26) Match the following :

Millet      Botanical Name

a) Finger millet 1) Panicum sumatrense

b) Little millet 2) Setaria italica

c) Foxtail millet 3) Panicum miliaceum

d) Proso millet 4) Eleusine coracana

Answer options :

(a) (b) (c) (d)

1) 1 2 3 4

2) 3 4 2 1

3) 4 1 2 3

4) 2 1 3 4

27) H$moH$U h[aVnUu hr ...... Mr g§H$[aV OmV Amho
1) Aiy 2) H$mobmoHo${e`m 3) ~mU ‘yi 4) H$gmdm

27) Konkan Haritparni is the variety of

1) Tannia 2) Colocasia 3) Arrow root 4) Cassava

28) Imbrb Owidm :
g§H$[aV OmV/hm`~«rS> {nH$mMo Zmd
a) TAKPS-5 I) ŵB©‘yJ
b) NIAW 3624 II) Ádmar
c) PU-0609-43 III) ~«oS> Jhÿ
d) K-1812 IV) CS>rX~rZ

V) ìhr. Ś‘ Jhÿ
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n`m©¶r CÎmao :
(a) (b) (c) (d)

1) (ii) (v) (iii) (iv)

2) (i) (v) (iv) (ii)

3) (iii) (v) (iv) (i)

4) (ii) (iii) (iv) (i)

28) Match the following :

Variety/Hybrid Crop Name

a) TAKPS-5 I) Groundnut

b) NIAW 3624 II) Sorghum

c) PU-0609-43 III) Bread Wheat

d) K-1812 IV) Urdbean

V) Drum Wheat

Answer options :

(a) (b) (c) (d)

1) (ii) (v) (iii) (iv)

2) (i) (v) (iv) (ii)

3) (iii) (v) (iv) (i)

4) (ii) (iii) (iv) (i)

29) Imbrbn¡H$s H$moUË`m {Odm‘wio ~m°på~Šg ‘moar‘Ü ò JdVmi amoJ hmoVmo?
1) Nosema bombyeis 2) Beauveria bassiana

3) ~°{gbg ~m°å~rgopßQ>H$g 4) Ý ỳpŠb`a nm°brhoS´mo{gg {dfmUy
29) Which of the following organisms causes grasserie disease in Bombyx mori ?

1) Nosema bombyeis 2) Beauveria bassiana

3) Bacillus bombysepticus 4) Nuclear polyhedrosis virus

30) Q´m`H$moJ«m‘m Egnrnr (Q´m`H$moJ«m‘°{Q>S>o) naOrdr H$aVo
1) ~m|S>AirMr Air 2) ~m|S>AirMr ß ẁnm
3) ~m|S>AirMr A§S>r 4) ~m|S>AirMr A§S>r Am{U Aù`m

30) Trichogramma spp (Trichogrammatidae) parasitizes the

1) Larvae of bollworm 2) Pupa of bollworm

3) Eggs of the bollworm 4) Eggs and larvae of bollworm

31) 2016 ‘Ü¶o {g¸$s‘ ho amÁ¶ ̂ maVmVrb n{hbo 100% g|{Ð¶ amÁ¶ åhUyZ Kmo{fV H$aÊ¶mV Ambo. Ë¶mZwgma EHy$U {H$Vr
joÌ g|{Ð¶ eoVr åhUyZ à‘m{UV H$aÊ¶mV Ambo?
1) 1,80,000 EH$a 2) 1,70,000 EH$a 3) 1,50,000 EH$a 4) 1,90,000 EH$a

31) In 2016 the State of Sikkim declared as the first 100% organic State in India. How much land.is

certified as organic farm ?

1) 1,80,000 acres 2) 1,70,000 acres 3) 1,50,000 acres 4) 1,90,000 acres
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CÎmao

(6) d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $

d¡km{ZH$ g§ñWm d g§emoYH

1-1 2-2 3-4 4-4 5-2 6-3 7-3 8-2 9-1 10-1
11-3 12-4 13-2 14-2 15-1 16-3 17-4 18-3 19-4 20-4
21-4 22-2 23-2 24-3 25-x 26-1 27-2 28-1

O¡dV§ÌkmZ

1-3 2-2 3-3 4-4 5-4 6-4 7-3 8-2 9-3 10-1
11-1 12-3 13-4 14-1 15-4

amoJ{dkmZ

1-3 2-4 3-1 4-2 5-4 6-2 7-3 8-4 9-2 10-2
11-2 12-3 13-3 14-4 15-2 16-2 17-3 18-1 19-4 20-3
21-1 22-1

nrH${dkmZ

1-1 2-2 3-4 4-3 5-4 6-3 7-1 8-4 9-4 10-4
11-3 12-2 13-1 14-3 15-1 16-1 17-1 18-1 19-2 20-3
21-3 22-2 23-3 24-2 25-1 26-3 27-1 28-4 29-4 30-3
31-4


